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,5.4N - Modeling Periodic Behavior foe)=asm(p (K‘C‘))

A, Write an equation for the sine Sine curve that has the given ,nfﬂrmatmn ~C (K) C{ CCS( p (K-é.)
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.Amplitude = 4  Vertical Shift = down2 Period= 7 2. Amplitude= 3  Phase Shift = nght pe”od

f2)=4 s'n (2X) —2 £02) 3 510( % -] T )

Feyjoct = 24" Peviod = _;E.'
g1 ZJI' =2 = e 9 2 270 bTE = @...-
_T'X b bﬁl ’g b=% T v ""‘i'r L
B. Write an equation for the cosine curve that has the given information. b 8
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!. Given the graph, write either a <ine or cosine equation.
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D. Read each story and write the appropriate trigonometric function to model each periodic situation below \
CoStne stne O~
1. At the Bay of Fundy, low tide is at 11:30 am and high tide is at 5&;“ The water level varies 50 feet between low
‘. A——— B e e ST
and high tide. Write amequ&on that represents this function. °

€ hrs. Uz egele a = _E&"_‘iﬂ =22 225Ft  Qeflesad
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2. On Mars at the equator, the temperature varies from 70°F to IDD“ Fina single day. ertuation that
represents this function. 3
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3. A Ferris wheel 100 feet in diameter makes one revolution every 60 seconds. The center of the wheeHs‘Sg Qbuve‘

the ground. People load at the bottom of the Ferris wheel, Wrinctinn to model the height of a car on
-_—-_.-_— y
the Ferris wheel at any time t.
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4. A greater wax ?hmh has hearing capable of sensing high frequencv sounds up to 300,000 cycles per second. Write a

ctlon representing the sound wave of the pitch. (Amplitude is1.) Fre — o
— Freg, i rediproed o
F‘VW = 300,000 c\cles _pericd,

¥
Peviod = o - l .

300,600 .
_’g__\,% 2w 4'—(@ — SN (00,000TT X
3 0000 b

b = pocecotT

Scanned with CamScanner



